PS 11/2
Z: Má……..200 str.
    Zbývá…..25 str.
Celkem…..?
V: 200 + 25 = 225
O: Malíř má celkem ilustrovat 225 stran.

PS str. 11/4
2.měsíc….100+76 = 176ks
Za celé 2 měsíce 100 + 176 = 276 ks

PS 11/5
326
847
602
854
909
573




PS 11/6 Zakrouhli na stovky
50 + 20 = 70 zaokrouhlení na 100; 70
30 + 20 = 50 zaokrouhlení na 100; 50
20 + 60 = 80 zaokrouhlení na 100; 80
[bookmark: _GoBack]60 + 30 = 90 zaokrouhlení na 100; 90
40 + 20 = 60 zaokrouhlení na 100; 60
10 + 50 = 60 zaokrouhlení na 100; 60
90 + 10 = 100 zaokrouhlení na 100; 100




